» Gyl @ Ul o6 Yol Ly i pUAj

alaiallalgalliale

Wil Glllgulwllrawe
Wizollbudlhowygullyuolallagnodeoln

Jihad. hamid@gmail.com

Abstract: Verbs conjugation in Arabic poses many problems related to the diversity of their classifications.
This diversity lies in the variation in verb conjugation that causes problems to learners whom are unable in
most time to make the right conjugation. In this paper, we present a first version of an automatic conjugator
of Arabic verbs developed at the Institute for the Studies and Researches on Arabization in Rabat. This system
is in Java language, and is characterized by accuracy, is easy to use, and is a good reference compared to many
books of morphology. Moreover, the system is stem-based unlike the other systems that are root-based. In this
paper, we will focus on the rules involved in our work, in a similar way to their processing, without going into
details to the Arab grammarians proposals. .
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I8 &y pall Ol Caley Jl=dY) Cale :xml g g5 o Olale Bus e Busldl] oda 9589

=Y 19l 5ey Cale 5 casasy J=all dussy) say iles

deawidld hhw (24175) (e 0559 dsly Ml M U8Vl guaz dolzcwl JIsdY) Cils 50y
glodl Ly el Olgal Douss 13] el egdadl Tasly Ly pai b jhaw JS Jsdo 83,5kl 43I Jl=8U
dus=S oyghw Old

Olgal Ssuss 136 g o) Tasly Ly pas B haw JS Jseind S 3bl &M Js=dW dewcdls Lol
Oyshw $ous3 dluols Gus] DousS 5l glodl Ly a3

o) lasly Ly pai U sl JS Jieidid (3ay5bls 83,2xkl) dusly I Jlsdl dwcdly Lol
bl A pamy b Lads

(5udz) gisdl :dsYI Jub)
<verbe valeur="Gudz" Ina="Gul5" R1="g" R2="J" R3="4" R4="" categorie="1"
classe_numero ="1" transitivite="1" />
5dJ) 5 ) 1> (R3)s (R2)5 (R1) gzl 1ig) LeShl el B3,o o JUb) lia § Jasdls
CUI § Bpay (Gud2) gizdl of @l (1) oo (catégorie) L padl QLI Oy (Jlszll s (o)
blo &1 ol (1) so (classe) gizdl gg5 s Il 3001 Oy (1 Jsuzdl Hhail) "Jds-J=8" oV
L)Y oy gdedl o (sl (1) 9 (transitivité) ga=dl 5 ag3Ul e I 50,01 Oly (2 Jguazdl Hlasl)

(3 Jgazdl hail)

(é.&j) gl Gl JEd
<verbe Valeur:"@.&j" Ina:"é.f.f;é" R1="," R2="4" R3="e" R4=""categorie="1"
classe_numero ="1" transitivite_numero ="1" />
<verbe valeur="g&}" Ina=";a.ij.j" RI1="," R2="4" R3="p" R4="" categorie="2"
classe_numero ="1" transitivite_numero ="1" />
9 () 5 «0) 1o (R3)g (R2)s «(R1) gizdl 1iy) LSl ydedl B9, of Jbl i § B
GG Bpan (§5) gizdl OF @ (2) ol (1) oo (catégorie) iy padl QLI Ols (Jlsdl e (p)
&l &I (1) 9o (classe) giadl g 55 e JIWI a0l Oly " Jds-J=8" ol "Jmis-J=8" GWI ol sV

LY 5y gdedl O ¢ (1) sa (transitivité) gasdl 5 po3ll e JIall 5001 Ol cbls

(z=3) gi=d) (W YLkl

<verbe valeur="&=}" Ina:"é.?:é" R1="," R2="g" R3="g" R4="" categorie="1"
classe_numero="1" transitivite_I;umero="3" />

<verbe valeur="g=}" Ina:"é’?}é" R1="," R2="g" R3="g" R4="" categorie="2"
classe_numero="1" transitivite_numero="3" />

<verbe valeur="g=}" Ina="é§}§" R1="," R2="g" R3="g" R4="" categorie="3"

classe_numero="1" transitivite_numero="3" />
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9@ 9 40) o2 (R3)9 d(R2)5 (R1) gl 1) DSl izl B9y o JLb) lia § casdls
Gpay (25) gizdl o @ «(3) 51 (2) 51 (1) 5o (catégorie) iy pad) CWI Ol (Jlsl s (2)
Ge Il sedl Oly Jmis-J=8" of "Jeds-J=b" of "Jmdi-Ja8" W o QW1 of oM LU &
«(3) oo (transitivité) gasdl 5 agsUl e I 5001 Oy (bl T (6T (1) 9 (classe) gizdl ¢ 55
(855 dilre § Lusing iz asy § L)Y 0, gl Of

(}‘3) gl :&IJJI Jeb
<verbe valeurz";’.‘;” Ina="j\§§" R1="g@" R2="," R3="," R4="" categorie="1"
classe_numero="6" transitivite_numero="1" />
<verbe Valeurz"jfb" Ina="j§.§" R1="g@" R2="," R3="," R4="" categorie="2"
classe_numero="6" transitivite_numero="3" />
<verbe Valeurz"jfb" Ina="j§.§" R1="g" R2="," R3="," R4="" categorie="4"
classe_numero="6" transitivite_numero="1" />

23

<verbe Valeur:"}i‘;" Ina=",i5" RI="@" R2="," R3="," R4="" categorie="6"

classe_numero="6" transitivite_numero="1" />

30) 3 A0b) 2 (R3)3 «(R2)g (R1) gl 1) &sSh) ydadl Bgye O JLEb) Nia § cfasds

(5%) gdzdl ol &l «(6) s (4) o1 (2) oI (1) sa (catégorie) & el Ol Als Jlsdl s ()
of "Jads-J=8" of "Jads-J=8" of "Jsmii-J=d" Gusludl of @l ) of G sl JsYI QLI (e B pats
e JIl el Ols cimae a1 gl «(6) s (classe) gicd] g5 e Il 3ol Ol ("R J3"
& WY 0y JRi-Jmb dcall dedly giod! OF & «(3) sl (1) so (transitivité) gasl 5 po3Ul

L3y 558 6,5V geall Lol Lol osy5 Olse § Lusiay cdilee pass

(3) gisd) :umolsd] JUL)
<verbe valeur="_51" Ina:"gévlé;" R1="¢" R2="¢" R3="g" R4="" categorie="8"
classe_numero="22" transitivite_numero="2" />
<verbe valeur="G51" Ina:"gévéé" R1="¢" R2="¢" R3="¢" R4="" categorie="9"
classe_numero="22" transitivite_numero="3" />
9d2) 55) 1o8 (R3)5 (R2)3 «(R1) gl lig) LsShl ydedl Bgye o JE) 1o § Jasdls
CWI § Bpan (GBT) gdzdl o &l (9) 51 (8) 9 (catégorie) iy sl QLI Gls (Jlsdl s (9)
I (22) sa (classe) izl g 55 e W 50,0 Ol Jy.a_ads'sl of "Jeles-Jel8" muldllsl cpalill
ol &l «(3) sl (2) s» (transitivité) gazall 5 pg3Ul e Il 50,01 Oy sl 5500 $5ly padl &l
vamy @ WY 0y Jmdd- 0ol diveall dtlly Lol dpasio 5 Joli-J6B diall Ll gizdl

8x5T Olme @ Luasieg dslse

(5351) gzl s puolud! JLb!
<verbe Valeur="}§5f' Ina="jq:§é" R1="¢" R2="gz" R3="," R4="" categorie="13"
classe_numero="1" transitivite_numero="1" />

<verbe valeur="}sd| Ina=",z:ﬁz§ R1="¢g" R2="z" R3="," R4="" categorie="13"

classe_numero="8" transitivite_numero="1" />
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95 91 ©) 1o (R3)3 (R2)3 (R1) gisdl lig) LsShl el Bgye o JUb) lia § asdls

& Gran G2 gdedl Of ol (13) sa (catégorie) Ly el OWI Ols Jlsd) e () 5 ()

flo 45T T «(8) o (1) s (classe) gizdl g 55 As JIWI 30,01 O A JRR) b SIWI QU]

3o (transitivité) &gdai.” 9 eg}Ul s JIW) 5e,]l QTS ol dl=dI @ Egglg Jleg dggjl Ul @
Lasze s 5 gdadl e of o (1)

(é};S) gl :&L«JI Jit)
R2="C" R3="," R4="&" categorie="19"

o ~Sy "won

<verbe valeur="g;>3" Ina="g,>&" R1="s

classe_numero="1" transitivite_numero="2" />

9 ) i (R4)s «(R3)s «(R2)9 (R1) gizdl 1ig) LsSLl il Bgye oF JLL) 1o § Jasdls
(£553) gizdl O &l (19) s (catégorie) Laypadl U Ols (JIsdl e () 5 O)s (p)
&l &1 (1) 9o (classe) gizdl g 3 e Il 301 Os " Jledd-Jlsd" e mald] QLI (o B paty
Lasie 3y gdedl OF 6T (2) 5o (transitivité) gasdl 5 agsUl e I 5001 O bl

(2555) gdodl 1ol JLb

<verbe Valeur="é3:>:\5” Ina="é3;>33§” R1="s" R2="" R3="," R4="g" categorie="20"

classe_numero="1" transitivite_numero="1" />

5 ) 1o (R4 (R3)s (R2)9 (R1) gizdl 1ig) SsShl il Bgyo O JEL o § Jamd
(z5>35) gdadl OF gl (20) so (catégorie) iy pat LI Ols JIstl e () 5 <)y ()
&l @l (1) 3o (classe) gdodl g5 e JIWI a1 Oy <" JIRAT- JId" o sdll OUI & B pans

Lo3¥ 0 gdedl O 6l (1) s (transitivité) gasl 5 pg3Ul e JIal 50,01 Oy bl

(ledz 24175 3ol L) do,sl dxll Il grazd leisl dlasiwl] Basld]l pallas eal oo

Ohusdy Bisg d8Lo)) laruos LolSe] me cualindl o lgMazuly 5ua35 il LS
S oYl atdoy xml g g5 pe Sildle B duyy=l) dlll § I8V iy s pllss pralsyy Jastieg LS
S Ialszsl J=all g g5 e GBI Calll gsimog (1 Jgasdl) dslb g a3 J=dYl ool Calises
(3 Jgazdl) dass ol dsdll ez e JIWI 30,01 ez EIEIT Calll Wl (2 Jgaedl) 0yder Bgye

<?xml version="1.0" encoding="windows-1256" ?>
<awzans>
s o -_=x
<wazn numero="1" wazn="J=a5- J=8"/>
488 -7
<wazn numero="2" wazn="Jxa- J=8"/>
S8 T-%
<wazn numero="3" wazn="x>- J=8"/>
-8 7 3
<wazn numero="4" wazn="Jsa- J=8"/>
E °_ - <
<wazn numero="5" wazn="xa>- J=8"/>

2% 8%
<wazn numero="6" wazn="Jsa- J=8"/>
ni2is T8Iy

<wazn numero="7" wazn="sa-J=8"/>

S <5 1%
<wazn numero="8" wazn="Jel&- Je6"/>
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s o %8,

<wazn numero="9" wazn="=a- J=3"/>

Sg o =5 1
<wazn numero="10" wazn="J=a5- J=a3"/>

' WAz e (o Tan

<wazn numero="11" wazn="Jela- Jel&5"/>

S fo <oz
<wazn numero="12" wazn="Jx=a5- J=a!"/>
<wazn numero="13" wazn= szu JEzIsl"/>
<wazn numero="14" wazn= Jz.cu J.xsl"/>
<wazn numero="15" wazn= Jxa.«.«u Js'u:.f.,l"/>
<wazn numero="16" wazn—"d&nj Jlxsl"/>
<wazn numero="17" wazn= Jssxo.”s-d.cszej />

qe -2 T5 -2
<wazn numero="18" wazn="Jg=a-Jg=s!"/>
<wazn numero="19" wazn= Jl.za.) J=8"/>
<wazn numero="20" wazn= J.Lza.u Jsd5"/>
<wazn numero="21" wazn= JL&.D.) JL.wsl"/>
<wazn numero="22" wazn= J.l.v.n_a J.lysl"/>

</awzans>

J=dW Ly padl Qg ] 11 Jguad)

<?xml version="1.0" encoding="windows-1256" ?
<classes>

<classe numero="1" classe:"(l:l.w"/>

<classe numero="2" classe="claJ| jga4s"/>

<classe numero="3" classe=" (=) jgogo"/>

<classe numero="4" classe="pMI jg04s"/>

<classe numero="5" classe:"‘a)Ul Jgege @) Jgege/>

"

<classe numero="6" classe="Cazas"/>

<classe numero="7" classe="cld)] jgape azn"/>

"

<classe numero="7"" classe=")gag0 hzin"/>

<classe numero="8" classe="g9ly Jtn"/>

<classe numero="9" classe="x=ll jgoge g3ls Jla"/>
<classe numero="10" classe="pMI jsoge $9ly JLa"/>
<classe numero="11" classe="_a=as gsly Jln"/>
<classe numero="11" classe="Cazas jsogo $9ly J&a"/>
<classe numero="12" classe="3L Ji»"/>

<classe numero="13" classe="(y=J] jgage Jb JLs"/>
<classe numero="13" classe="jgags Jb JLs"/>

<classe numero="14" classe="Cazas 3L Jis"/>

m

<classe numero="14" classe="Cazas jgage Jdb Jie"/>
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<classe numero="15" classe="gsly & 3.?3"/ >

<classe numero="16" classe="<laJl jsogo $3ls k.éyi"/>
<classe numero="17" classez"@Ul Jsage $9ls Ces.?i"/>
<classe numero="18" classe="3L Gool"/>

<classe numero="19" classe="claJ] jgogs 3 Ggal"/>
<classe numero="20" classe="gM! jso40 b Gsal"/>
<classe numero="21" classe="gsly ,R3L"/>

<classe numero="22" classe="<laJ| jgogs S5ly ROL"/>
<classe numero="23" classe="cy=l jsogs g3ly UR3L"/>
<classe numero="24" classe="3lL (a8L"/>

<classe numero="25" classe="cldJ] j9ag0 b (a3L"/>
<classe numero="26" classe="(y=J) jgage Jb (R3L"/>
<classe numero="26" classe="jg0g0 Jb (3L"/>
<classe numero="27" classe="3g 00 a.al"/>

<classe numero="28" classe="5J| jg080 8980 ard)"/>
<classe numero="29" classe="(y9,80 aa"/>

<classe numero="30" classe="claJ| jgag0 (9,80 axd)"/>

</classes>

Jidll glgsl ] 12 Jgusdl

<?xml version="1.0" encoding="windows-1256" ?>
<transitivites>

<transitivite numero="1" transitivite="g;y"/>
<transitivite numero="2" transitivite="Jx"/>
<transitivite numero="3" transitivite="dsxe 9 p‘}l"/ >

</transitivites>

wyussg J=dll pg3t pl)l 3 Jguzdl
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